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QUESTION 1
HOTSPOT

You are developing a Java program to play Tic-Tac-Toe. You define the following array to store the state of the board:
Use the drop-down menus to select the answer choice that answers each question based on the information presented
in the code. NOTE: Each correct selection is worth one point.

char[][] grid = {

{I":".J'xl}:
{I'.J.'.:i'l}:
{. =3 B

Hot Area:
Answer Area
Which array element contains an "x"? - »
grd[0](2]
grid[1][3]
grid[2][0]
gridi3[1]
Which array element contains an "0"? X
grid[1][2]
grid[2][1]
grid[2][3]
grid[3][2]

Correct Answer:
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Answer Area

Which array element contains an "x"? il
grid[0][2]
grid[1][3]
gnd[2][0]
grdi31(1]

Which array element contains an "0"? X
grid[1][2]
grid{2][1]
grid(2][3]
grid[3][2]

QUESTION 2
HOTSPOT

You are interviewing for a job as a Java developer. You need to evaluate the following code. Line numbers are included
for reference only.

81 String s1 = "Hello bkorld";
@82 5tring s2 "Hello borld";
83 String 53 = s52;

84

85

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct
selection is worth one point.

Hot Area:

Answer Area
Yes Mo

=1 and s2 refer to the same object in memaory.
s2 and s3 refer to the same object in memory.
A different string can be assigned to s1 on line 04.

A different string can be assigned to sz on line 05.

Correct Answer:
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Answer Area
Yes No

=1 and s2 refer to the same object in memory. @)

and s3 refer to the same object in memory.

L]
Fad

A different string can be assigned to s1 on line 04. =)

A different string can be assigned to s2 on line 05. &

References: https://www.tutorialspoint.com/java/java_strings.htm

QUESTION 3

DRAG DROP

You are writing a Java program that collects patient information and stores it in a database.
You need to ensure that the program stores data using the least amount of memory.

Which data type should you use to complete each variable declaration? To answer, drag the appropriate data type from
the column on the left to its code segment on the right. Each data may be used once, more than once, or not at all. You

may need to drag the split bar between panes or scroll to view content.

Select and Place:

Data Types Answer Area

short

| boolzan “byte

char | “Flnat {birth¥sar = 1974:

texempt = false;

ginitial = e
-

1 salary = 22123.5F;

Correct Answer:
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Data Types Answer Area

byt= BN
exempt = false;

E initisl = 'D';

EI salary = 22123.5f;

birthYezar = 1974:

References: http://www.tutorialspoint.com/java/java_basic_datatypes.htm

QUESTION 4
HOTSPOT

You work on a team that develops e-commerce applications. A member of the team creates a class named DB that
connects to a database. The class contains a method named query.

You need to initiate the DB class and invoke the query method.
How should you complete the code? To answer, select the appropriate code segments in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:

Answer Area

DB db = v

DB()
new DB
new DB()

e

db.query()
DB.query

query()

Correct Answer:
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Answer Area

DB db = w | 3
DB()
new DB
new DB()

db.query() |
DB.query

quen() |

References: https://docs.oracle.com/javase/8/docs/api/java/lang/reflect/Method.html#invoke-java.lang.Object-
java.lang.Object...

QUESTION 5
DRAG DROP

You are interviewing for a job at Adventure Works, Inc. The hiring manager asks you to create a single console
program.

The program takes multiple arguments from the command line and writes them to the screen in the same order as they

were typed on the command line.

Which three code segments should you use to develop the solution? To answer, move the appropriate code segments

from the list of code segments to the answer area and arrange them in the correct order.

Select and Place:
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Code Segments Answer Area

public static void main(String arguments) { l

‘ for (int 1 = 0; i < args.length; i++) { |

System.out.println(args[i]);
}
}

‘ for (int 1 = 1; i <= Integer.parselnt(args[@]); i++) { |
System.out.println(arguments[i]); @

}
}

public static void main(String[] args) { ‘

| for (int i = @; i < arguments.length; i++) { |

Correct Answer:

Code Segments Answer Area

public static void main(String arguments) { l public static void main(String[] args) {

‘ for (int i = 8; i < args.length; i++) { | l for (int i = 8; i ¢ arguments.length; i++) {

System,out.println(args[i]);
' }
! }

‘ for (int i = 1; i <= Integer.parselnt(args[@]); it++) { |®

System.out.println(arguments[i]);
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